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f 12 15 the zero of both the polynomials x2 + mx - 8 and 3x? + nx - 2 then (4m? + n?) =

(:’: mX - a‘u’mﬁuin )¢+ - 2603 B0t i 2,8 PR 2 OO0 (4m? +n?) =
Ty~ M’\-v n‘;{ n=<€ e

(1) 49 (4) -49
=T . Qbn_an LY \4: anaple == Gl

5. . Match the following situations to the corresponding quadratic equations

A. The altitude of a right angled triangle is 7 cm less than its i. x2-20x-69=0
base and the hypotenuse is 13 cm

B. The two consecutive positive integers whose sum of i x2+7x-69=0
squares is 613

C. A rectangle whose perimeter is 28m. and whose area is iil. x2-7x-60=0
40sq.m. '

D. The whole number which when decreased by 20 is equal  iv.  x*-14x+40=0

to 69 times the reciprocal of the number
V. x2+x-306=0

800 HBSVH How0HS I $HEE e 21685385,06-

A 2% ©0o8%s 8gHes0 A, de cj?r‘{l AL oe3 7 0. i x2-20x-69=0
éhe‘ééao“) B0t 13 R0.ab. 80 \ -
B. 0oH a’;tim (Al og_)adfooan ) a’mae) 20650 61 ii. x+7x-69=0
ii. x-7x-60=0

C 28 BYSEHEN0 Ging, hgpseed 283D, 500

30,0 40 t5.aD.
D. 2¥Rge0seds
20 ééﬁoaa’:monéﬂ @ raoaJé a@ﬁaﬁmé 69 BEnesd

IL ‘t B Y -'r 1% ’l'l | 7 6[-'3 \J:‘C'"ﬂ 'ZI‘ -

Choose the option in which the given pairs are correctly matched.
808 Q0DER KIS zxen FIAS H0DED 20 Bahod.
(1) A - i, B -iii,C - iv, D - ii (2) A-ii,B - iv, C-iii, D -
/@a-m,e-u,c-iu,n-i (4)A-v,B-1Iv,C-ii,D - iii
3. |f two zeroes of the polynomial x* - 4x? - 3x + 12 are V3 and 4, then its third zero is
- 4x2 - 3x + 12 5HE G, Both ERmeen V3 HHBa 4 wod, ted Hweess A

(1)4- (2) -4 olet \f\j _\7&{“\ /g_

1

/@}@ @7 - 0
o "[PT.O 3

iv. x2-14x+40=0
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6. Match the following ratio
308 oSBSah Ho o8 S@e0d DenHeds 006 (3 5308 ﬂamaé)
HHB0HoR). [
A 11 jo9n ( W)
s %) 9?’) ; @ ¥ 44
B. 34 2 () ii.0913
. 37 = /( g 9/1;;
k. 21 iii. 0.915 :-'h’ G
23 A rn;\
D. 8 Civ.0919 > y _ |
47 : \ b q\ 0
5 3
v. 0.917 .
Choose the option in which the given pairs are correctly matched
800 Q0D KT 2se5en ¥IAD Q0D DoDE BADHOG.
(MA-v,B-iC-ii,D-iv /@A-V,B—i'u,t—ii,[l-‘iii
(3)A-ivB-ii,C-i,D-iii (4) A - v, B -ii, C - i, D i
7.  The HCF and LCM of 5p° @?, 10[_:.:2 r’and 15q° r? are
596,10 9008 159 Gty A s O E D, B
(1) 5, 30pqr (2) 30, 5p°q’r? 10 p
5,30pq’r’ (4) 30, 5pqr
8. Jfa= — : 1
. il s where a # 3 and a # 0, then the value of a +5 is
iy
= 2o ©ond, a =3 5B a # 0 @AY a + 15 g, Dewsd
(3)3vi3 (8) YT
lo~\2 L. 2~
g T e . T
L S
_ {

BEh

o value of (@’ = b’) is

If a2+ b? = 52 and ab = 24, then th
a2+ b? = 52 001D ab = 24 @owd (a* - b) AE, DS Sk )
(2) £56 (a- 'ﬂ)( Lt

(1) 280 - ¢ pt)
(3) 76 /@I (;) @ @
(a - Y sy —F

Factors of 7 + 10(x + y) — 8(x + )’
o “

74 10(x + ¥) - 8(x + ¥)? G, SeUEa0SP ) -
— () (7-4x-Ay), (1+2x+2Y)

(N (7 -4ax +4y), (1+2x - 2y)
(4) (7 + 8% - 4ay), (1= 2x + 2y)

(3) (7 + 4x + 4y), (1 - 2x - 2y)

nal numbers with their decimal values (Correct to 3 decimal places)
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which of the following statements are true?

o EsgE

A. The numbers of the form 2 5+ Where pa and q are integers and q = O are called ratlonal

numbers.
B. Every non-terminating repeating decimal is not a rational number. -
C. There are infinitely many rational numbers between any two rational numbers.
D. Decimal expansion of an irrational number is non-terminating and non-repeating.

Choose the correct answer.

(3) A, B:and D only A,C and D only
* 800 FAPS° KGN A ?

p, q &0 RY DoPen. éﬁJﬁcﬁn q# 0 oav¥, ¢ dmoe‘iﬁ ceahife n)oaléaai) wEse3ah
fooaaéen @R WOk,
s @oéo 2R BIYNO 308 98 t3B20d0 @gdcﬁotﬁ X0g) 5. |~

_capw B0t @édsﬁotﬁ S0 S oo O3 e ek 508 E0ER0N. -
D. 6ciah 0@, G, @0 DPE @oe‘éo a’naoin @50 S0 $0tnod.

L,

0% HRERRR) A0S BOHOG.
(1) A, B 50005 € Segiab 7 (2) B, C 58050 D Srab
\@)A BRI DERED N {/am,caamo:fnnawéa)

10. Arrange the following surds in ascending order of their magnitude: /
/
8o¢s E8e30i anéd éﬁo”)JBE’aOEﬁ'éX)L(SBQﬁBEB E0065% wabd006. /];{v [l(.‘- a o P w_l/
V10, V6, V3. ¥T0 I fo~, "% &
) * 3 1 = T ,J N
(1) V3,46, Y10, Y10 (2) V33, Y10, V10 o7 €87 3

4 3 3 4 373 — -»‘
@y s wamEm i fi )

N IFYEEE = o4pV33 then 2is
I a+bVT @wé‘ﬁﬁbs‘aawé wri, .
m7 : =% ) ; y -
T @ e ﬁiﬁj Ty
[
@D 9 U\ [P.T.O 5
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12. Match the quadratic equations with their roots: ” /" +§4 .
Bt B8 GEmRS) ) amened BSSGHOS ?ﬁ(}; -
-2 A, x1-x-12=0 i 34 0\}( JxéMJ
q-2l 4" B x-7x+122=0 i .34 =
C. x2-8x+12=0 ii. -3,-4 gl
D. x+x-12Z0  iv. -34
V. 6r2 -

Choose the option in which the given pairs are correctly matched.

800 Q0¥ KFH eeben EHNR 20985 0 BahHod.

~ MA-iv,B.y,C-iii,D-i }(Z)A—i,B-V.C—ii,D-iv

//@A iv, B, C-v, D~ '}gam-i,s-ii,c—in,n-iu

13. The greatest possible length of a rope which can be used to measure exactly the lengths 5m

13cm, 7m 83cm, 10m 80cm is Adis
(1) 27m (2) 27cm (3) 40m : (4) 40cm
. 5&1320.8, 78.8320.3D, 10aD.80R0.0. EHORL PO Qaeaﬁcsar‘aé &003eN 00
oty AN, (1O o cs
S i oy G P <1
» o .
(3) 408 ; (4) 40R0.3. to kD
: ")
14.  Iflog, (x* +x) = log, (x + 1) = 2 then the value of x is }c} nty i /"7_’\1,#
log, (x2 + x) - log, (x + 1) = 2 @ONE x GNE, Des YF‘H 5
64 (2) 256 (3)2 (4)8 _ ”
| ke EELL
@ If Vo+6v2 = va++b then the value of ab is o 4
" ot evz = Va+vE @O ab % Jenss 7 ?::{J " 124
(1)14 @9 | 320 - - (418

' A mechanic sold two bikes for ¥10,976 each, gaining 12% on the one and losing 2% on the
other, then his gain or loss percent on the whole transaction is '
(1) 4.53% gain  (2) 4.76% gain (3) 4.76% loss () 4.53% loss
28 5eRE Boch FEoik 28358 109768 DFoW0TeLD. BB ¥R 12% eefo,
0P 2% $50 F0OS, K3 Ao ePPBIP SIS 5 erefo Fwe Hgo Ay,

B850 " e
(1) 4.53%exefo .~ (2) 4.76%e30850 b= TJ '@w@
(3) 4.76% 510 T = (4) 4.53%030 o e B
6 G- &
i
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17.

v. 10,985
Choose the option in which the given pairs are correctly matched. f_‘
808 20D¥eE 537 eésen SOAN H0HERD Ao Wahod. ok l%j %
(1) A -iv, B - lil, C - v, D - i “(2A-1,B-i,C-v,D-i II?M
7/(3)A-p,é-i,c-iv,n-ii @A-v,B-iii,C—imD—ii fé‘f”
' [PT.O 7

@ B

The marl_<ed price of a TV is 218,000, By selling it at a discount of 20%, the profit is 20%, then -
the cost price of the TV is |

TV G0%, ¥E3S 30 718,000, 20% A0S RO WD 20% el FOBRYS © TV
3 n ?

- ; g 150
nlo] [ 08ex& — b — M Yoo
Tow
(1) 214,400 (2) 215,000 @ﬁpgo (4) 212,500
atch the following: | — A
A. Ravi borrowed ¥7500 at 16% compound interest, then the amount he has 1. 10,302
to pay at the end of two years to clear the debt is (in rupees)
B. The compound interest on 31,250 at 12% per annum for ii. 11,000
2 Yz years is (in rupees)
iii. 41,552

C. The population of a village is found to increase at the rate of 30% every
year. If the present population of the village is 6500, then the population

of the village after 2 years is :
D. Akbar deposited ¥10,000 at 10% compound interest in a bank for two iv. 10,092

years. At the end of the first year he withdrew 71000, then the amount

he gets from the bank at the end of the second year is (El rLdEeegl :;.E l
-t x® v. 109
7 e =} Y8 e
806 a3 Bdéétj_}oé.: ww Lo, ;{\ w1 B2

A. 53 16% 555G F75005) O BROKTL, aoé%o:}’glédme goegs 1. 10302

0 0,55 &u 0 3o Jwefo (o)
B, 312509 HOSETERS 12% SRS 2 2 DG TOS) $558 (Gped) i 1000

/c. 5@ H0:568,50 &8 To 3047 30% 5961, DSOS HBoSE0R. il 41,552

G080 ek esegR 6500 0O 2 $05¢8,000) 508 TRk 25T
D. ¥ Godganen 10,000 270,056 10% SESGE0 Gavest) A, iv. 10,092

58S oS0 Huhk SHOPAS OB 1000 B SBH0TO0D
Hie,t, wand J0&8 H0BE B0 2506% W& 2ro8 Mok F0d

Sneso (K edd)
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19.

20.

Anil and Pavan borrowed 42000 and ¥55000 res . .
3640 more than Anil, then the rate of Simple In

]
_'|'
s

0
pectively for 3% years at the same rate of
restis
Simple interest. If Pavan has to pay ¥ '

©AS 5B HSS SHIMe 242000 $HHAM T5500070 3%
Gene® W))m RV, HID 0965 Kol T3640R) 25,8 Do

505000 8.8 PR HG
§), 57, © I

5&0w

(1) 16% (2) 4%

(3) 2% L/@8% |
Ad interest and Simple interest on a certain sum of

The difference between the Compg,
money for 2 years at 4% rate of interest per annum is ¥4, then find the sum.

KOBS,T008 4% S0, H Gened 2 HodesTee Joew ABF AR SESE HOAM
i $6 el B¢50 74 ®ond S0 Do, %‘; '
(2) 2600
(8) 32650

(1) F2400
32500

In a laboratory, the count of bacteria in an experiment increases by 10% during first hour,
decreases by 8% during second hour and again increases by 12% during third hour. If the
count of bacteria initially was 1,31,25,000, then the count of the bacteria after 3 hours is
QARIFROS? 2.8 Hatrrianed apddafe Homy 365 Hoes10% JHHH0B, Fors
(i0865° 8% &thihod SHB A ST oS P 12% HIHEB. DoBoesoes 2R, 300
#9034 1,3125,000 @0, 3 tfote) & erddaR Ko,

(1) 1,48,67,400 {2) 1,48,76,400

(3)1,32,82,500 (4) 1,44,37,500

A, Band C started a business with investments of 318000, ¥20000 and ¥25000 respectively

After 4 months B withdrew an amount of 4000 from his investment; A and C added ?7000.

z:: ?3000 to their investments. The profit at the end of the year is %16080, then the share
is

A, B abBafy € en $thime 218000, 720880 soBafy 325086 EAOSE Tee0ed)

&008)0eeth, 4 e ¢5Tp.e8 B ¢35 260206 Anedain moémoom;éﬁoﬁﬁoﬁémaéj

A abB0ofn.C a0 2260 77000 HB0MW 33000 ¥dayedh. $055&E0 AS50SD 5%

e2f0 71 °
Msgo  9gn- 10 @)26480 G497V UrE Qyry
@wmen 0§ pegs A
(435440 oozt (w34 [
Yo | w™M ( g Y
Yo 1Ml o 2L
A 16 \ P o) [‘):-S/-"'")
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3, Atrain Crosses a man standing on a platform 125m long in 15'seconds and the platform in
30 seconds, then the length of the train (in metres) and the speed of the train(in km/hr) are
ik DO DU, et ip Dowd 67 530 1500 5,000 B0
DRSS TEH0B, ©0nS @ Fen Detieh (b 0 B Jen tfo(d.8b/H00D) =,

2

250,30 & -
125, 30 A1~ '},0 / = /J/f 37
tX/ 7 (8)250,25 7 M =
247 An express train takes 1 hour less than a passenger train to travel 132 km. If the average

speed of the express train is 11 km/hr more than that of the passenger train, then the
average speed of the express train is ( in km/hr)

132 8.8, HafeBoSEeRS &8 5O Jev, dpoed Jen
énngaognoa. AERD Fen Kt Stfo Deoesb Jen Kot 1
© 25,2R Gew Ktfew Sifo (8.80./totee?)

(1) 22 (2) 33 (3) 55 (4) 44

Kot 1 ot B HHALO
8.2 /tfotren QS &0,

I in 12 hours. The first pipe fills the

25 Two pipes running together can fill a swimming poo.
then the ratio of time taken by the

swimming pool 10 hours faster than the second one,

pipes to fill the swimming pool separately is (taken in order)
12 tfotad 2. 3¢5 S8R Toth Pihen ¥R AoHEON. Ancse ) BoLSTA Kot .

10 tiotven Stform &3¢ P A0HEOL. wond G35 PoRH ABIGT 0D

pHen SrnH) Shafee 00,8 (¥s00e5® Bxn§9G08) oy - Mo

(13:4 (2)2:3 @82 (@)4:3 v
oA

h men and women. The average height of the men is 72 inches and

26. A group consists of bot
e height of both men and women

the average height of the women is 66 inches. If the averag
tio of women to men in the group is

2,8 Hesie0e?® Hhaen 580y arden Adrn &, HHhane Dt e 72
@otHzeen SO0 o Kiftn D& 66 O0rHTee. HHEVED 5005 SHinven agh Hifew
Q&) 70 @OrHFREN WONE, %55572065 §) &80 DO A

M1:1 (2)2:1 (3)3:2 (41:2

L is 70 inches, then thera

27.  Every week, Rani is paid ¥40 per hour for the first forty hours she works and ¥80 per hour
for each hour she works after the first 40 hours, then the number of hours Rani would have

to work in one week to earn an average of ¥60 per hour is
58 ardo, Deed HA WA Ancse S HoweH Kot 40 HBah dAndsed 40 towe
S0l @D HA P D& HotatH 280 A3ocsacHedond, ®ons Teed Ktftns Hoth 360

BS0epA0SEAE el 500 AR Hoten HA) Sofeé)?
(1 50 (2)80 (3) 60 )70

[P.T.O ]
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28. 175 men can lay a road of 3150 km. Iong in
3900 km. long in 24 days is

175 506 B thien 3150 8.8, B3 36 0er0S? Sapiot. oand 208506 B 5

3900 8.80.65¢Hi0 24 BdereIeS® Soifoth?

(1) 320 (2) 352 /@325 43D
29. Match the following:

A. If 5 men or 7 women can earn $700 per day, then 7 men and 11 women earn i. - 49
per day is (in rupees) |
B. 13 men can weave 117 baskets in a week, then the number of men needed to ii. 45
weave 189 baskets in 3 days is
C. A fort had provisions for 450 men for 80 days. After 10 days, 250 more men iii. 2100
arrived, then the number of days the remaining food last at the same rate is
D. Monthly expenditure of a family of 5 members is" 3500, then the iv. 46
expenditure of the family if there are 3 members is (in rupees)
v. 2080
- 800 aee3R) 2e8HY,06:
' A. 55008 Hihshen Sme 7 5008 shiegen 592 2700 JeOoSHwHh Wand 49
7 506 Hthaben A 11 008 aeen 5925 D0& HoJeBJe
(tReed)
B. 13 508 HHEEN 8,8 TB0SE 117 2080 Ve, @and 3 i. 45
208N OYLRAS D0 0 HHEnen seaed).
C. 2% 590 80 Dieyedety 450 0 HHNVH GHE Hhdeafeen ji. 2100
R0, 10 B¥ere) BoRE, HB8 250 0B DN SaxyW, (scmé /
NN @55380 ©F Bendd ), Boaren SKHOE
D. 5 &0B AdzhHe LHEN02rAS Jo P, 73500, VNS 3 5006 HEHERY &OE 46
3 £e00200 G, 3L PUY A0 (Geiwed) s x3
ﬁ " > v. 2080
o Choose the option in which the given pairs are correctly matched. 7@\ s
' -~
806 20DEVSH 5T ey SONS dod¥ 20bE Jabod, | 4
/(1)A v,B-iv,C-1i,D-iii @A—iii,B-i,C—u,D-w . 9

/)A v, B -i, C-ii, D - iii (4) A -iii,B-i,C-iv,D-v
10

5 -

25

36 days, then the number of men to lay a road of |

B4

30. If

!

B 7

33.

34,
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30.

31

32.

33.

34.

ST — —

>

“:x=JIj+JZS+JIOB+m and
O
N,

V:J;J7l+mthenx+y= - U

=
x=ﬁ0+f25+\]loa+mé)a‘ﬁn b’ r

o N
o L=
. r &
y= 40+J71+W@w5x+v=
SN
m (2)12 (3) 10 (8)13
then the ratio of the

If the perimeter of a circle is equal to half of the perimeter of a square,
diameter of a circle to the side of a square is
5,850 G0, &5,BH00, L5eBR0 SepSREed Hmdd a0 ©E, ;

Shof SR AinE, 3020 Aal) :)cqa]@
-

M1:m (2m:1 (3)n 2
then the number of sides of a polygon Is

,680 ¥, 5300

The sum of interior angles of a polygon is 1080°,
xghes A, ©0SY §8¢z00) Emeéo 1080° ©aNE 2TgH22 AinE, aHeRe N0y W

(1) 12 (2)16 8 (4)10 CZ 7""")/:'
gno 1t

The length of a diagonal of a rectangle is 26 cm. If the length of its shorter side is 10 cm, then

the area of the rectangle is (incm?)

2.8 HESHEH0 A, o FPED 26200.80. TR AN, gheso a?ac.ﬁ@ 10 20.8D. cacmé.@ @x \s
&6&5&36@0 G0, BE0 (500.0.06°) , e v

(1) 260 (2)130 240 (4) 120 5 l"/ gar

The lengths of parallel sides of a trapezium are in the ratio 7 : 5 and the distance between
them is 14 cm. If the area of the trapezium is 252 cm? then the lengths of its parallel sides

are (incm)

2.5 Be80h0 A, Hspodst ghaRe DcsshHen 7: 5 A,B0° eayan HB0 el el
tndo 14 20.8. E0e0ho JFee 252 am’ wond @A) HEROSY ghepe DocisHen

(0.8 |
(1) 28, 20 (2) 21,15 3 (3)14,10 (4) 35,25

[P.T.O n
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35. The area of a circle inscribed in a square of area 784 cm? is (in cm?)

37.

al E"ﬁ

"

784 35.200.6D. JF0 o) Seiods ©oBfde Hg5o Ak, JFee0 (5.0.ee8)

(1) 2464 (2) 308 (3) 1232 /@616 s |
A
Which of the following statements are true? /ﬁ

; [
A. Every rhombus is a parallelogram.
B. Every rectangle is a rhombus.

14
C. Every parallelogram is a rectangle. /’d\/\ , /;5/‘

D. Every square is a rectangle.

Choose the correct answer.

(1) Band C only (2) Cand D only
(3) Aand C only (4) A and D only
S00 aR@E® HFHD A ?

A. O& D0 .8 N0 Se&es0.

B. 98 QY 518550 8.5 Te0R). o &
.08 roaﬁJaOe:éti S e &8 OY Seg0.
 D.5® SHEH0 8.8 BY S0 D
R DR, 028 Hohod.
() B SB0 C et~ 2) € 506010 D g5
(3) A shBafn ¢ a’m@a’}w A»a’naa‘.fn D eedad

The lengths of the diagonals of two squares are 8 cm, and 6 cm, then the ratio of their
perimeters in the same order is

Goth dSehtew Egew HsHen 8 20.8) B & 0.5). ©ond ©F SHoes aaéﬁ

wDenSvde A8 - “r 7
(116:9 (2)9:16 J
g (4)3:4

38. The ratio between the exterior angle and the interior angle of a regular polygonis 2:3, then
the number of sides in the polygon is

Ead 208702He8 OUE, 270570, S350 1B A 00 e8P ea e A5, ®2:30ond aaém‘il&'aé%
ghere Hog, ‘ c— Vsl 14

(13

(2) 4 Q. —
(4)6 ﬁgﬁ/ .
V)
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=30

40.

42.

43,

d

; . I
Raju got 59 marks out of 75 in English, 71 marks out of 90 marks in Mathematics, 103 marks
out of 120 in Physics and 123 marks out of 150 in Chemistry. In which subject did he perform

petter?
(1) Chemistry (2) Mathematics
(3) Physics (4) English

oot @OEVES 758 59 iy, Hicdeosd 003 71 Pt FEETHOL® 1205
103 E7teD, BRRaHH K08 1508 123 SR DAYV 5 ¥g58 o HSYPD
$e3B,0e3060? N,

A %)
zj—’;’é';f/ﬁ/o T;:b

(1) BRRADR TR0 (2 tiedgo Y
(3) &°8E TR0 (4) Ol

If3A=48=6CthenA:B:C=/M’./kW
3A=4B=6C OONB A:B:C= W Lo ¥
M3:4:6 Mz (3)6:4:3 (4)3:4:2

12 men and 8 women can do a piece of work in 16 days, 13 men and 4 women can doitin

18 days, then in how many days 3 men and 12 women can do it? (in days)
12800 HHiies B0 8 D06 Hen & HVD 16 Gheresh Sabifoth, 1308 Hhivey
5)00m Seothi Hen @3S 18 Ger0e? Safiioth, oo Sufht pthsven 00

12 5008 Hen ©F HAA AR, PO Sohreh? (ﬁ‘ﬁas*e.wejﬁ)% b Q”’I n 4= (2

(116 (218 @20 wan X

5 days while B alone can do it in 20 days. A started the work and

A can do a certain job in 2
d? (in days)

was joined by B after 10 days. In how many days was the whole work complete
A 2.8 D85 HA 25 Ddererdtd Hahifod, ©B HA ) B 20 Biere@y Ao, A A
SpoHod® 10 Bézre ST B Soech.0ond ango HA ), Heredd efonod?
.-—-—'—"_"-'__'_._ e * ~ . -
(5925069
M163 (2)16 162 ()64 Hz\y
e

An ornament contains 14% copper, 27% silver and rest gold, then the quantity of gold in

1.2 kg of the ornament is (in grams)
2,8 @2ft5e30& 14% 020, 27% Bod 500 DADHH WomEo 608, VN 1.2 25 ©

K
. |

cy
¢
{9

b

A

oY

/\flz(

®

©2f8ea0e® om0 AInE, H0:RER0 (Mesineesd) 4 |00
708 (2) 172 (3) 324 (4) 704 “Tou
[PT.O 13
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45,

46.

44.

=
1%

3
2 ' i = inst then the
m numbe . He multiplied it by = instead,
A student was asked to multiply a umber by - He p v

in the calculation is e

percentage of the error in t*‘\, _ - @ a i
v 9,00, ©5:) RS wthenm =639 N0y,

88 DOA &8 Do _3-’1 59 thedocdad g ; ]5

. 16 nJes

©oH @ Hease? B0 ding, Foo ~ -
(1) 36% 64% (3) 62% (4) 38%

A trader mixes three varieties of onion§ costing ¥30, ¥20 and ¥40 per kgintheratio4:6:3
in terms of weight, and sold the mixture at ¥36 per kg, then the profit percentage is

&, R0 8689 730, 720 B0 340 (5t S 8500 &PF0HOR 4:6:3 A @
22thsh) Hom ¥ach, @ Py 8GO 736 B2)),d JFawowmeth @A ergfo G,

Foes0

(1) 36% (2) 20% (3) 23% %
Match the following: - /lktj

b

A, IfP={x:x is @ natural number and x < 10} and g . {1; 2,3,4,6,812,20,24}
Q = {x: x is an even natural number}, then P N Qs L
B. If X = {x: x is an even natural number x < 18} and ii. "~ {24,810}

Y = {x x is an even natural number such that
NM<x<17}, thenX-Yis ' '

C. IfR={x:xis a factor of 24} then R is iii. {2,4, 6,810}
D. If S= {1’2’4’8'24} and i\f. i [2;4;6! 8} I
T=12,3,4,6,12,20} then _

SuUTis :

Wil v (1234681220
800 &l ase855t5,08: - A ‘ |
A. P={x:x 93O {557z r‘ﬁoajé a0B80fL x < 10} sHB0M
Q={x:x @A K8 HFezs N0y}, WaNP P A Q
B. X={x:x0R38 ¥0 Kjos N0y B0 x < 18} B i, {24,810}
Y= {x: x ORI {6 Koe: 508), B 11 < x < 17) @OV
X-Y
C. R={xx ©%5)%6, 24 Aln¥, Soliez0¥0} @owis R S {24,6810)
). $={1,2,4, 8, 24} 5001 iv. {245, 8}
T=1{2,3,4,6,12,20) 0an s U T

{1,2;3, 4, 6,812,20,24}

. V
Choose the option in which the given pairs are correctly matched.

808 0BELE 53:S een SO QDL 20D SaHod,

v {12,3,4,681224)

HDA - i, B - iv, C -, D - v A2 A-iii,B i, C- v, D - i

(3)A-iv,B-iii,C-i,D -v /(4)A-iV,B-Iii,C—V,D-I
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q7. Ina class, 22 students are interested to play cricket, 36 students are interested to play
“ carroms and two games are conducted at the different time. 8 students are interested to

050

play both the games, then the number of students who are interested in playing cricket or
/p/ugymg carromsis S

0.8 SUHASE 22 HH0 Denghen §3¢5 @eserpdd B SN et 36500 dwethen
so0s) BLERAS @8 KON G B0 Fotd wien JFH Halee? AbErR.
g 308 JwREhen GotH Ghen BeltrAE b KON emad) oS §5¢ BieRDs oo

seia GLERAS GR8 EDAS dmethe Hoay
(128 . 2)14 , ' :
) () 50 (4) 58 AN
48. Match the following: v’
o8
| A. For what value of k, the pair of linear equations 4x + ky + 8 =0 and i. k=-6
x +y+1=0hasaunique solution :
B. For what value of k, the pair of linear equations 2x -3y =7and . k#4
(k+2) x - (2k+1)y - 3(2k-1)= 0 have infinitely many solutions
C. For what value of k, the pair of linear equations kx + 2y = 5 and i, k=4

3x +y = 1has no solution -
i i i -9= iv. k=-4

D. For what value of k, the pair of linear equations (k+3)x - ky - 9 =0 and
3x - by - 8 = 0 represents parallel lines

V. k=6
806 a7t 23e8HT00:
A, dx+ky+8=0:500Mx+y+1=0©3 3Pah HDEBege wBHKAWE, i k=-6
9 DS DFE PN S08nod
B. 2x -3y =7 S0aM (k+2)x - (2k+Ny - 3(2k-1)= 0 © FPah HabEeae i.  k#4
23858 k A%, @ Denadd @SR FERHN0EIN
C. kx+2y =500 3x +y =103 5dah Habstfesee 21885 k AE, d i. k=4

NS S

D. (k+3)x - ky - 9= 0 &0OAM 3x - 6y - 8=0 0 G)ah HabEYego 2SH v k=-4
k OI0E, & :]eua’ssﬁ Hamposss Sposeeon  |o ¢ _ " ane?

—_— R g
q 2/ /?"\ 2__.\! k=6
Choose the option in which the given pairs are correctly matched. v A

206 0L K5 2eien EINK Q0HER DoDY Qahod. Ve ]
/@A-iv,a-ii,c-i,u_—u @ A-i,B-ii,C-v,D-i i = A1
(3)A-iv,B-iii,C-v,D-i (4) A - ii, B-iv, C- i, D - iii K- .
6=

[P.T.O 15
V=t
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s

@Sum of twointegers is 98, If the greater integer is divided by the smaller integer, the quotient

is 3 and the remainder is 10, then the greater integer is
Gocd sypgoa® aneso 98. 11 YRFR0ELN AN, SpYRoadE? griR 3 gRifmino SHOal

10 3310 ©awe ¢S syetfoa) At ~1] VI8
(1) 76 (2) 22 A= AT
(3)28 (4) 70

50. Which of the following statements are true?

.If thelines are parallel then the pair of equations has no solution and they are inconsistent.
B. lﬁtﬁ'é lines intersect at a point then the pair of equations has a unique solution and they
are consistent. ‘ )

C. If the lines coincide then the pair of equations have infinitely many solutions and they are

inconsisten!;/
D. A pair of linear equations in two variables can be solved only through graphicall method.

Choose the correct answer.

(1) Aand D only (2) Cand D only
(3)Aand Bonly: (4) B and D only
800 @B NN A ?

A.B0tH Sen foénoe?éci c’la)@:\‘) & raéﬁtizaaea BB FEITeh S0 @D Ko
Hab¥teToen, —

B B0t 56¥Bpen .8 Hothi 56 DOBODHOE 2.8 esiS &080O SO @ Kot
¥ ez,

C. B0t Bapen DR a3’ ©R0BFN M EHen0rom B0 © Ko S5 Scgen.

D.80& SE0eHLSR Foh HeESeme esejm:{n Oar Ao HES woTe K
ReH0LII),

R0 HaRERRR), A0 SaH0d.
(1) A 580 D si7eghad (2) C 3801 D deghal o
sB0fn B smedad (4) B shB0afw D Sregiah )

he area of a triangle formed by the lines x =y, y =10 and x = 4 is (in sQ. units)
X=Y,y=10 hB0fw x = 4 Beod YGK Bahes B0 (SE555) ohrAge?)
M. L, ) @28 (3)14 (4)18 5“'

T Lt il ™
) : -
1 |

(=
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. 5
52 A tailor was hire.d to stitch 240 dresses. The first day he stitched 9 dresses and each day,
thereafter h? stitched two more dresses than he stitched the day before, then the number
of days required by him to finish the work is
240 BRYE HHHEH 2.8 56 AoHLODHTD: i) Be5e Boey 9 Bryen HEPED
2,805 B 592 O S0 Bde HEH eRE0L Bk Ernjen D KR, © DA
510 S0DERAS ©BIS OISR Bere HOMY |
M (2)13 (3)12 (4)14
53, If the sum of nterms of an Arithmetic Progression is 5n’+ 3n, then the common difference j £
; a0

of the A.P.is

54 The next term of the Arithmetic Progression\/? , V12,

(V33 Va8 aviz 1 @3

55. Match the folfowing:

A. Inan Arithmetic Progression if a,= 25and a,= 55, then its common i 13
difference is
B. Number of terms in the Arithmetic progression 9, 5, 1, =331, -35 is ii. 24
C. Number of 2 digit numbers divisible by 7 is i, 12
D. The next term of the Geometric progression 3 _6, 1S iv. 14
V. 6
306 3083 eses,00:
A o8 ©OSBGHP 3, =25 B0 a,= 55 @, TR e o S b 18
B. 0,5, 1-3 =31, ~35 QOEBGOR) DO Rogy /3/’__1_7___ e i. 24
C. 738 gpAos 00608 moal,;wé*fl’u'? - % itd i, 12
D. 3,6, 12 DEITE CINE, somssso A7 1t @0% v. 14
= 2 vV 6
Choose the option in which the given pairs are correctly matched. q ?
306 a0HERS? H3 B KRS DODED D01 BaDOC.
(M A -iii,B-i,C-iv,D -l 2 A-v,B-ii,C-i,D-i
(3)A-i,B-iv,C-v,D-ii (4) A - v, B-iii,C-iv,D-ii
[PT.O 17

2 (¢

2.8 ©O¥AAH n Hwoe An0 5n+3n GONES, O woFE A, AR gtso_~1D="5
M8 (2)26 (3)18 4)10 @
27 i 5 3, v

. S 7 J) P
7 3,12, V2T 00536 Ging, Bthand He50 Juz 3N ("D Jﬁf)
: 42 [+ 17

fgfr’JW
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57.

%é 3G 2550508 (ax? + by + C,

O30
Ji 15,

x? ; 3 1
1 B.L.q.xz be C_\{'z'x_.ﬁ.“/g D.x3+x+
“axtyaxds 2
Choose the correct answer.
(1) Aand D only (2) B and C only
| |
(3) Aand C only /(ﬁc and D only
800 3831 wFuHthen O ?
x® . 3 1
: 1 C.VZx-X+5 D.x*+x+
“axte2xes B4t | ,
B KR gemed), dodE SaHod.
(1) A 80w D reesah (2) B $HBAfw € sregdah
(3) AhBofn € Spgad (4) C Bk D &regdad

Which of the following statements are true?
A. A quadratic polynomial (ax?+ bx + ¢, where a # 0) has at least twq zeroes.

B. Alinear polynomial (ax + b, where a = 0) has exactly a unique zero and its graph intersects
the x-axis only at one point. ’

C. A graph of a cubic polynomial (ax3+ bx2+ cx +d, where a<+£ 0) is a'\parabola.

D. Any cubic polynomial (ax3 + bx2+ cx + d, where a# 0) have atmost three zeroes.
Choose the correct answer.

(1) Band D only (2) Aand C only
(3) Band Conly | ' (4) A and D only
806 @y 5559 D3 ?

where a = 0) €850 doch r‘iiJB{\}aéEJr‘&) %90 &08n00.

_/B/‘E:S' ddah aJa’JaJa’Jtﬁé (ax +b, where a #0Q) PyBom 8,8 BB, s7e¢8ah ¥ 650000

B @ed) M X-OFq), 2.8 o) $¢§ dmesa POGKVOB.
C. Q0R208T0DHE (ax+ bx2 + cx + d, where a = 0) QlwE; Te &8 Huesswobo.

&OLN0A.

/D.{D ADAVTVHEA @D (ax® + bx2 + cx + d, where a = 0) tfogiore SRt dRwe ¥

NG Hsirgemsd), 2098 Sahod, /}_%,
1) BHBaf D e )z) A 52801 € Spgd
(

18

(3) B ahBofn C Hregssh 4) A 08afv D Sresd

e ——
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5g, Which of the following statements are true?

p, The general form of arithmetic progressionis a,a * d,a+2d,a+ 30, and n'* term is

a+(n-1d where ‘a'is the first term and ‘d ' is the common difference.

g.If a, b, c are in arithmetic progression thenb =a +C.

¢. The general form of geometric progression is 2, ar, ar?, ari .. and nt" term is ar"' where

'3’ is the first term and ‘r’ is the common ratio.
D. If 3, b, c are in geometric prOgressionl then b? = ac.
choose the correct answer.
(1) B, Cand D only _ (2) A, B and Conly
(3) A, Band D only (4) A, C and D only
800 @ HFI 2 ? |
A 053G ﬂ]_)éz' Ao Brpdoa, a +d,a+2d,a+ 30, e $)80fn nad D5 a+(n-1)d.
HAS ‘2’ @30 3¢5 H¢e50 B0 d’ @R TR gicso.
d{, b 58050 ¢ e csoéé‘éeﬁ'é &08j, “1; %k
=a+CcOYPDOB. ’

C. theade G, mJoaiIen) URS0 a, ar, ar? ar}...0005 NS Heskn ar™ A ‘a OA) -

56l HE50 SHBAM ' WA Fesirers .
D.a, b SO0 ¢ ev tHeBEed 608 b? = ac ©YEOB.
K85 Hamgered) 0D BaOs. |
(1) B, C SHB0fn D&RED /7 (2) A, B $080% C Siregiah -
(3) A, B 500 D SRy /(A)_A,CB'JJBOiD D &egdad

59. The number of zeroes for the quadratic polynomial shown in the graph is

PSP SRHAEGH 5§ wTWHE AW, APR Vo8
Y

~

(13
P I/’\

(3)1

(4)0 Y!

[PT.0 19
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60 cosec? 60°— cot? 60° _ M
cosec 60°- cot 60°
1 A B 3=
0= A2IV3 V3

Ais
If A = {x: xis a factor of 18} then the number of subsets of set

¥ &5Renehw D0y
A fx: x O 18 G0, So8Eg2050} WONR, DA A A0S, (5 : q y

(1) 63 _ /fZJ 64 ,
(3)32 (4) 31 g

62. Which of the following statements are true?

61.

A. There exists one and only one circle through three collinear points.
B. Equal chords of a circle are equidistant from the centre of the circle.
C. The circles with a same centre aﬁd different radii are known as concentric circles.
D. Onf\) two circles can be drawn through two points in a plane.
Choose the correct answer .
.' (1) A and B only (2) Cand D only
(3) Band C only (4) A and D only
S0 oS0 00R) Q) ?
YA, S8datren ©ad Sweed Hothie thote 2.8 2.8 ¢80 3¢08.
B850 G108, K250 a0 568 oS0 Kv0d 5855 ¢5780 68 Gotmans—"
c.2.8 Sogso 590 312'354 FoFRgeRD o Kooy 2 Sog meen wotmeth—
D. 2,8 S &8 B0t HotHisHe Hom Gocs 9BV Srga HoDSy,.

R0 DeirEreaed) 20K Sahod,
(1) A 580k B e )’ (2) C 50Baf D sreesad
/?Baﬁaaoin;aﬁﬁgéﬂa /mAaﬁJecﬁnDaiﬁéaﬁJ

63. The polynomial which when divided by (-x2+ x - 1) gives a quotient (x - 2) and remainder 3, is

(- +x - 1) &3 2TVGHO aRAR), a0 (x - 2) SHBA 0 3 3583, THA

(M -x3-3x2+3x-5 (2) -x3-3x2-3x -5
(3) x*+3x?2-3x +5 (4)-%*-3x2-3x+5
{ Ctngeon T e

_—

— _' Scanned with CamScanner
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- < 1\o (S0 = €. ‘ -
64, Ifsin g and cos 6 are the roots of the quadratic equation ax* + bx +c=0thenb’=
s'ingeﬁJﬁoiD cos 6 &0 S Hab¥teao a4re [

axz+bx+c=0(ﬁ)3§5émmu} (901}63, b? = / /L 7
()@~ 2ac (2) a’- ac (3)at+ac ) a?+ 2ac g~ »C

iF 18t and 11" term of an arithmetic progression are in the ratio 3:2 then its 25" and 9t terms
greintheratio
s =
@08 363 G, 188 snBAHH 118 Hewe Vel 3:2 QN 2585 B0 98 St AE
(1) 31 )73 (3)1:3 (4) 37 J‘:’k = ?'L,
-

65.

6. The product of two co-prime numbers is 630, then the L.C.M. of these numbers is
0tsr HBRY HFereoseR B0 630 GOWR), & Hog)e 53 e, thedeso u:ﬂ/o '
S ° -

= {530 (2)18 (3) 45 (@)1 ) &v/
" : : 33 9 (]
If log,, 27 = 14313, then the value of log,9is v J 3 AWy 1) ? \* ;

log, 27 =14313 ©OW, log,, 9 G, DR r
(1) 04771 (2) 14771 3) 0.9542 (4) 19542 wosp

_ & : A
68. IF5**1+5@-0=5+] thenthe valug/of x is @ ; o I ( -
2

\O
e

%+ -x) = : f‘f"r
51 4 5279 = 52+ 1 ©QNE, x O, Densd
(4) 1,2

69. The least number to be added to each of the numbers 16, 7,79 and 43, so that the resulting

101,-2 A2) -l -2 . (31,

ngn}tgers are in proportion is
16,7, 79 518050 43 HOa)ED ©)Tess0d &0mee08] aredd KRwed)d @8 AR 08

m3 ! =" @5 Q4 : 4)6

70. Which of the following statements are true?
A. The points which lie on the circumference of the same circle are called concyclic points.
B. A line which intersects a circle in two distinct points is called a tangent' of the circle.
C. If all the four vertices of a quadrilateral lie on a circle, then such a quadrilateral is called a
cyclic quadrilateral.
D. All diameters of same circle are not equal in length.
Choose the correct answer. |
(1) Cand D only (2) A and B only

(3) Band D only (4) A and C only

[PT.O 21
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74.

808 @8 53559 53 2
R 2.8 5,88 500 2 God Hochesd S8ad Hochepen

©OoeRM.

B. 2.8 &@0R), 5065 D%, Dothishe H¢ 906508 )i %539 ©0oend. ey
C.Sebtfmo ding, meenth Bgeen &8 $EB0PS God), wansod Btz WSt

aﬁéadheso ©oetxth.

D. 2,835,880 Gl ©R), ar,idoen Dot dd Km0 &0t |

A8 DGR, Q0N aHod.

Which of the following statements are true?
A.lx| € 6-6 <x < §,xisareal number
B.Ixyl = x| . |yl,xand y are real numbers

C.lx =yl < || = |y], x and yare real_numbers
D.Ix +¥| 2 |x| + |y|, xand y are real numbers
Choose the correct answer.,

(1) Aand B only (2) Cand D only

(3)Aand C only (4) B and D only

(1) C 50801 D &R (2) A 5000 B diregiad SO
- ; e oA ™ ozl
(3) B sb80fn D Suegad Mé’a‘ﬁ” Cdmgad =2 15\
‘ A2
. ¥z S
The points (3,0), (0,b) and (k,1) are collinear, then the value of k is Q "_’)-i’
' G
(@0), (0,0) 80 (k1) $3PaH ochiHen ©ane, k AW, Hen:s
a .
Wre-1n  @2p-1 (3)=(1-b) (4).§(l—b)
| If A, B, Care the interior angles of AABC, then sec( B+g"‘)=
A, B, C & AABC Gt 0085 Soeaoen @O sec( 2174). "
1 = . -1
(1) sinA (2) e (3) -w\.smA (4) )
The zeroes of the polynomial 4x* + 5y2x — 3are
4x* + 5V2x - 3 02D OO, ARTee)
=3 1 -3 -1 ' 3 -1 3 1
m?—;fzﬁ ( )ﬁ’ﬁ‘}: ( )ﬁ’iﬁ (4)ﬁ,ﬁ
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800 FPSAE B8 HFH AN ? * ke
;. x| £ 6.:_5 S X S 8, xS Sows \P) 2 L
B.|xyl = 1x] . 1y], x .y &R Soggen ‘/, . ﬁ \¢5
C.lx = yI < Ixh= 1yl x yeo ads Somgen S \ j 1
D.Ix +¥1 2 x| + 1yl x.y & 55 Somgen : @ % /\ ﬁ/ﬂ
%585 RHERERTRY Q0D SaHOE. | -~
(1) A 5000 B sSegad (2) C 58050 D Sghab |
(3) A 00 C gD (4) B 500 D SH7pehab
75. Choose a pair of co-primes from the following.
(1) 99 and 1012 (2) 1302 and 3465
(3) 92 and 575 (4) 81and 16
806 0803006 HBY DEeA0SR BB Q0DY $50H0G.
(1) 99 shdafn 1012 (2) 1302 500 3465 - 7
(3) 92 80w 575 (4) 81 a’nﬁcﬁn 16 ' a Qi;(‘?' f:\ i

76. The angles of elevation of the tops of two towers A and B as seen from the middle point of .

tWe towers are 60°, 30° respectively, then the ratio of the heights

of the towers A and B is

3otS e:56en A SHbaf B ER@ReND 599 B8 65 Doty 206 08560 ERMON
SRt 63 SBedoen HHM 60°, 30°00: 5en A 5005 B IEe A, 0,8

M2:1 23:1 (3)3:2 (8)V3:1

77. The line joining the points (p+1, 1) and (2p + 1, 3) passes through the point (2p + 2, 2p), then

the values of p are

(p+1,1) &oBa (2p+1,3) DothsHes 5928 (2p+2,2p) HohiHowe 0w ©oNS
-1 1 -1 1
(M -2 (2) 5.2 (3) -2 (4) 2
78.  The equations of a straight line passing through the point (4, 3) and having intercepts on the

co-ordinate axes whose sum is -1are

s ©seRH OBTPOLENE Angin -1 59N Dothd) (4, m_moma 3¢, 58 éaJa

RE0)

édea'aen 5 o e

/)3)( 2\; 6=0,x-2y+2=0 /({)X-2v+2=0,3x+2v—6_=0

. (3)3x-2y-6=0,x+2y-2=0 ()x-2y+2=0,3x-2y+6=0
(R P g4 - — It —¢

[PT.O 23
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3 | s )

(1) 154 (2) 168 rr-j! 21 FF
Sk (3) 182 (8) 140 12— \4 /

EIFE
1!..?;.

Ny tgareaand fis

se roo
79. If a + g =7ande® + p* =91, then the quadratic equation who

SnEteao
a+ ﬂ =7 B0 o + g2 =91, (SOJJI-fJaEﬁJﬂO‘iDﬂ&'nJﬁ iill g0 G N

(M *(2)x e

(1)x FI41220 €A 4 h/
) x2 = Ta+12= 0///:/: (4) x* +7x=12=0 ,6,9/”?"

sl b, e andhi Jayanti}
z: January 1, 2023 is Sunday, then in the same year which day is Mahatma G

5922
25550 1, 2023 @0 VAN Wi N0 B0 Hijae, w

. = @
4 i ) ] 4 2/
(1) Saturday {;/1—},’] A6+ 1+ { (2) Friday ﬁ") C+irt- "’i .
— sunda e 0O |
(3)Monday 32~ (4)Sunday s &' M
r 2 ® &8
81. At what time between 3 hrs. and 4 hrs. the hour hand and minute hand of a clock coincide?
4
(1) 3 hrs. 15 min. (2) 3 hrs. 16 min.
(3) 3 hrs.15:= min. ()3 hrs. 16 min

3 foten HBa 4 tfote e @ Mahoed HEaeEo Ay, Hote ey Hoak
Qe Sve &8 8 2 Hfafdeow2

()3 tfotoe) 15 2. iz /,('J?QJOT‘”‘Q e

L\
ﬁoeaealﬁ-—r‘a | 1),32,_ 2 US %7
v
(3) 3 tfokoe 15—- . p s
f-—[E?‘%Zoj L?%’L 16 o=
4) 3 ot 16 Q. /J e 3;:_
022 India's Independence day was celebrated on Monday, then in 2024 India's
ndependence day will be celebrated on b 1 }-' 1 U"L 4
20226 QG0 By gpUS Ao B3¢ 3707, aﬂtb@sbmaén, 202469 2R
aaéeﬁgg‘éﬁiéﬁlm@ e mdam@o@gﬁn l/:f’q;'f' .-’—’}fpgﬁ ¢)
(1) Friday “ »}—C (2) Wednesday ——— = 4
SHHL A+ (T . . a5 >

(3) Thursday . ;j_ﬂ@a) Saturdav %
Ur

83. The number of times the minute hand and hour hand of a clock coincidein a al¢
2,5 B0 Hidafnto vk, As0aTee e HH80 ot dnen AR, et ojéa:faaaam
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84.

co

which of the following statements are trye>

a. The product of two irrationals need not be irrational.

g, The product of a rational and an irrational need not be irrational.
¢, The sum of two irrationals is always irrational.

p. The sum of a rational and an irrational is always irrational.
choose the correct answer.

(1 Aand Bonly (2) Band C only
(3)Aand D only (4) C and D only
800 0530 HBI A ?

. B0t S6EaD Bome vgin BOR Keiah Ko, RS0 Jeb.
B. 2.8 ©¥Ed0D Hoay HBaf Kedad Hoae vein EEiah SoaysediHt0 Sib.

/- 3ot5 $BE30H B0 Fgtn dei) e Ktah SomdedEos.

85.

2.8 03BB0H K 0R;HBOL SSEI0H Hop® ﬁné’oaﬁno}a@Jcﬁﬁ E6edah rOO&Jér-sejﬁf)_)@jJOﬁ

—

0% MR J0E F0HOE.
(1) AZOALY B &7 gia | (2B 00 € &g
(3) AsDBAD STRgEad () CBafn D Srgd

Which of the following statements are true‘."

A. Two prime numbers are always co-primes.

B. 1is the smallest prime number.

C. Two consecutive odd prime numbers are known as twin primes.
D. Two co- primes are alwavs prlme numbers.

Choosé the correct answer
(1) Aand B only

(3) Band D only

800 o526 KGR 2D ?
A. B0t QPR NO0GLED o'JEJqDJCf;J'ﬂ DY HEFRRTR0SEN W) &P,

1 (2) A and C only
(4) Cand D only

/a 10360 ©& AR, HFeN HOPy

C. B0t Sthid 2 Hed Do 50 DGRAROSE) WA WOLTRH.
D. 305 HBK,8 Heae0seen QR ETe DR DOPED O3PS,
N3 Hsrememei J0E Sohos.
(1) A 500 B &g
(3) B & B0fw D S 7

A2) A 08090 C seegiah
(4) C HBofu D mg&f

[PT.O 25
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86. If|2x-3|=<3,thenx= 3 3 +3 j.,"/

| 2x -3 | <3 @0 x = | - /

M0<x<6 /'Pf—’J},.’TfJ ’f’/r"‘f”(

(Qx<0andx>3 — i —
/2)05x53 s ,,?

A
(4)x<Oandx>3 O . r£&.

7. )The polynomial f(x) = x* - 26 + 3x - ax + b when divided by (x - 1) and (x +1) leaves th,

remainders 5 and 19 respectively, then the remainder when f(x) is divided by (x - 2) is
ﬁJéﬁJa"Jﬁ f(x) = x4 - 23+ 3x? - ax + b A (x - 1) DO (x + 1)_@5 mn@é&:ﬁmj@ﬁm 1
Fe SJoaw, f(x) D (x - 2) S8 gRAODSYLH S30

M5 : (2)8

(3) 13 : (4) 10

88. The sum of three numbers in a geometric progression is 56. If we subtract 1, 7, 21 from these

89.

)83
/ - 2
)16 Gy f],. e
9

26

numbers in the order, we obtain an arithmetic progression, then the common ratio of the
given G.P. is | | |
tHEFES &, dureth Hoge Ango 56. @ Hog K0A 1, 7, 21 S0 FHBes &y
©0 36 DO WoNk headd Aoy, MERR ARE

M3, -2

(2)%,2

615, -2
@)= 2

The area of an equilateral triangle is 643 sq.cms, then its height is (in cms)

RaeReT) 820230 CIn, BBR@0 64y3 $5.20.80. ©ONS Qe (R0.30.26%)

X

(3)8
(4) 82 Eur

83

P |
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9o. Match the following:

A. The d!agonals_ bisect each other perpendicularly but are not equal i Square
B. The d!agonals b!sect each other perpendicularly and are equal ii. Parallelogram
C. The d!agqnals bisect each other and are not equal iil.  Trapezium
D. Thediagonals bisect each other and are equal ‘ iv.  Rectangle
v.  Rhombus
306 8 BEHG0d:
A Sgpen a)8s)to ©owom m@ﬁémocﬂa‘) 3oHotran S8R nla'naéona . >
. eBtan
60(5{)) YA
B. $Doe0 S0 ®orom HHB@OH drotran S0 i Adeody
RTBROTTR 608700 . - S0
C. ¥goen K50 HHAMOLN Fx0H0sRAN 5od) R0 gotssy il Ree0
_ St
D. ¥geen DB, B0 NGO S otreanshian AsiRdomm v BESEES5
&08R0N @
v. e detzo
Choose the option in which the given pairs are correctly matched. |
806 Q0DELB HTH asden FINS DoDED 0DE HoDHOG. .
J}A)A v, B i,C-ii,D-iv\IZ)A—v,B—iv,C-ii,D~iii
(3) A-iii,B-iv,C-ii,D-v (4)A -iv,B-i,C-v,D-ii

91, Ifsin O+ sin? @=1,then the valueof -

cos™ 0+ 3cos® O+ 3cos? @ + cos® O+ 6 cos® §+ 6 cos? B+ sin’ +sin Ois
I (o

sin 9+ sin? =1 ©ONE _
cos? @+ 3cos™ @+ 3cos® 6 + cosls 6+6 cos;‘1 6+ 6 cos? 0+ sin? G+ sin 6 A3V, eV

(110 (2)9 (37 (4)8
N A
92. IfI=msec8 +ntan 0 and k=n sec6 + mtan 6 then meP“'.\/': r¥
I=msec 8 +ntan 8 a’nﬁdﬁJ k=n sec8 + mtan @ ©ane £
/ﬂ)i2+ k? = m? + n? 12—k = m? + n? ’( o ¢ ‘ /L L
: M o o
(3)12 - k? = m? — n? @)%+ k* = m? —n? -(,_J'E" —_!‘ .-L-"-——-—"
% L]
. tan @ ot @ {‘_Lf VR
93. (0° < g <90 ) (1-1-,tan2 8)2 (1+C0tz 9)2 - O e —en - % i
sin @ ) l
M 5s0 )sin@ cos@ (3)sin@ + cos@ (4)sin® — cos@ |
[PT.0 27 I
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94. Which of the following statements are true?
P. cosec? A -cot? A = 1is true for 0° < A < 90", .
Q.If A > B then sin A = sin B, where 0° < A< 90°and 0° < B<90"
R.sec? A —tan? A = 1is true for 0 < A < 90"
S.sin (A + B) = sin A + sin B is true for all values of A and B.

Choose the correct answer.

(1) Qand R only (2) P and S only
(3) Rand S only (4) P and Q only
800 TP HFN A ?

P.0° < A < 90° Ging, ©R), Den:Hed cosec’ A -cot? A =1 SERNY Wa)eDoB.

Q. A > B @O A > sin B, 8%¢S 0° < A < 90° vBafn 0° < B = 90"

R. 0 < A < 90° GInE, @A), DenHeth sec A -tan* A =1 RegI) ©:)e0A.

S. A 508050 B B, 0, dewaed sin (A +B) =sin A + sin B M0 ©)E0R.
R0 NRETRARA), Q02E B0HOG.

(1) Q shBafn R segdad (2) P 5001 S Hreghad
: (3) R HBafH S dregha (4) P 601 Q &egsad)
. 95. Match the following: (0° < < 90°). (
800 a3 BBBYs: crp A é
- \
A. cotf +tané = i. cosecd + cotf |
!—. . ~C
1+ sin@ ~ . } _
B. e L[,z cosec@ cotf
1+ cos@ . 5" g ' + P
/C. 1— cosf M. tan. + cot8 . ,.C-:;:'D Cpo
D. Vsec28 + cosec?f c |iv. secf +tané . /J";:(':j’v/a
\ V. secf cosecé o
Choose the correct answer. \ 4 2 4
0% HdRgemed), 208 Sahod. S U
JA-V,B-iv,C-i,D -iii culieb B nill L
' , i _ A A-v,B-iv,C-ii,D - i [~t(e 30
(3)A-iv,B-i,C-v,D-ii (8) A -v, B -ii,C-i, D - il Cig
_ (ofe o (O
96. Ifsec 8+ tan 0=x,thentan 0= SH"}' =i | \ »
f - = L Q,{- = M-
sec 0+ tan 6= x @D tan 0= —~ 4 A A
x?-1 —

(1) 2) X241 x2=1 ) 7
. 5 (2) o /(3) s (4) : ""'u’?
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 The angle of elevation o
97 0 metres towards theftg\:em,? of a tower from certain point A is 30°. If the observer walks
r from A, then the angle of elevation of the to of the tow
; 5 i : e
increases by 15° Find the height of the tower (in metres). i r

5 Qo) A 3
A0 DABES 8.8 0563 griio 30° &3t 580 S0, ADODD 5008 HOBLHED

|00

20 Seath LSb S SBae, v 2
o A= ] (O] 2 0?2
e 0E (Doeotse5d) &t 56 P @350.&8%@5%0 15° 2608, @ ©)H6 A,
(1) 1003+ 1) (2) 10V3 3 e
V3 M/ﬂ

gg. Astraight line withy- intercept % and the slope -2- then its equation is

2,8 msg 6a A, y- @0&BRO0K0 2§00 aoe gecmé o) KEDELEO
(M2x-3y-5=0 (2)3x+2y+5=0 9.8 %’l*ﬁ

g/a’2xﬁ3\f+5=0 (8)3x -2y +5=0
g6. InalAPQR,P=(23) and medians through Q and R have equations 2y - 1= Oandx+y-1=0,

then the equation of median through P is
APQR@"P=(2,3),05’1)60111R@o&mtﬁéﬁéﬂm@;ﬁ&éﬁmwz\m=oa’naoﬁn x+y-1=0©00DN
- |- T

~
v

p )08 Socsies5a A, BAETE0 i ok
Mx+y=4 (2)5x+3y=1 (3)5§—a_v=0 /lﬂ).fix—3v=1

100. The point Pis on the line 4x -y -2=0. The point P is equidistant from the points (-5, 6) and .
(3,2), then the coordinates of P is

ax -y - 2.=0 8 PR PAoCHED) &0O- (=3, 6) 0Baf (3, 2
575080 &S00 GO P GINHILTRDSD
(1) (26) (2) (474) (3)(12)

, ) Dot P Dotk SEP

(4) (310)

f the radius 0Q of the outer circle

n the given figure is 770cm? |
e outer circle and the radius OP of

101. The area of shaded region i
between the radius 0Q of th

is 21 cm, then the difference

the inner circle is (in centimetres)
2dyd HW0H® Ak Sahadd getio NS, Dee)En 770 52080, RSN AWS,
aTedain 0Q 21 210,80, @O 2IeETRBa G, arJedam 00 50050 @Y 5

R GAD OPO G D (08 eYS®) (A
Q
(1)10 (2)7 (3)14 (4) 12
[PTO 29
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102. The long and short hands of a clock are 14 cm and7¢c

the distances travelled by their tips in 3 days is (in centimetres) ; .
HEamto Gy AR Hng $HOAMD Kot soen DR HONM, 14 04,

m long respectively, then the sum g

$80%) 7 20,80, &ie,an, ©ank @t dnen D5 3 Boered Haised0A dgo tint,
(R083Qeges)
(1) 6600 (2) 3696 (3) 3432 (4) 3300

103. The minute hand of a clock is V21 em long, then the area of the face of the clock covered by

the minute hand between 8 AM and 8.30 AM (in sq.cms)
HEQIRE0aE, Aiware gD VZI W0.Q Dot) GO, @O 8 AM sbB0f 8.30 AM &t

HEatRt0 dng, Smopk Anape suey 807 370e,0 (c5.200.8).067)

(1) 66 (2) 275 (33 L
104. V27 - VB +v17 +12V2-V28 =63 =

(1)2 (2)3 : (3)1 @4
105. If &+ 4 b’=12ab, then log (a + 2b) =

&+ 4 b’=12ab ®0NAN log (a + 2b) = o

(1)§(loga+logb—log2) ' (2)%(logai+ logb + 4 log 2)

(3)log§+logz (4)§(log'a—logb+4log2)

106. The mean of first three observations is 14 and the mean of next two observations is 18, then

the mean of all the five observations is

Ancsed swretd Tedde Rtfen 14 HBa Bthavess otH Tede HiKa 18 @O Anedo ad

Do tfen T QAP =Y~ a b de_
(116.0 (2)16.4 "t ledae
. nr
3)156 ~ (4)15.0 ,[‘l?‘li——& ol
107. If the mean of first n natural numbers is "T”, thenn = Y1 +36 2
Vi L & v n+7 _
dnesed n HaTees Hoaye Rifew — ©and, n = Q__’EL o %Pﬁ-
(1)10 sl /I2) 1 -
ant'
nA+412
(3)12 ( a F ’

4)9
R
30 _
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108. Which of the following statements are triah
ue:

A.If X is the mean of ‘n’ observations
X,

ax, ax, e - p Xy, then the mean of ‘'n' observations

B. Wﬁen ‘n' number of obs
being an odd number th;\f?;:eons ar—ran.g_ed in an (ascending or descending) order and n’
e Thamole ls theifoses median is the value of (5 + 1)th observation.
requently occurring observation.

D. The number of times a ;
6 SBEERRtI, N observation occurs in the given data is called the fre_qpencv of

Choose the correct answer.

() A, Cand D only . (2)B,CandDonly

(8.4, B:and Conly ' (4) A, Band D only

800 3@ HGH A 2
LU eLT IO VIE S A— X, © Qdfew ¥ ©ond ' GoAIED R —A Rifen ax
©a)e0B.

@'n' 82 Hogy @ow, &8 Eo (65%mee S ©50%5ega) 68 'n’ TaAIRD @38,
G+ 1) 03 Dens) eI @E0w. ntl D~
/@aé&sﬁﬂag) )00 0ah, 0o8R RIVYERD @otREY. v

D. 2 (5eR0FENe? 2.8 To8 AYTH HBTeS,B0 ©HEODD WA © 03 aing, -
FoSEB,0 OR ©OLEN. B '

8% HxREmed) 008 Babod.

(1) A, C 50050 D &egad (2) B, C 5080w D drgabd

(@) A, B 500 D gD
h of the largest 5 observations

) A, B S0B0f C 7o
distinct observations is 20.5. If eac

109. The median of a set of 1
set- -

of the set is increased.by 2, then the median of the new
(1) is increased by 2 as that of the original median
(2) is two times the original median

(3) is decreased by 2 as that of the ori
he original median

ginal median

(4) remains the same as that of t
1 8%, TeibH® HENS Hgiieo 20.5. HDBSE 5 08 D AV H 28, 728 HNHD

2 202G owd DY)E 5 b @, eiieo

(1) @den sEiso Qend 2 AHHE0O. :
(2) @%e0 g feRS 00th G& &O0E. |
(3) @5 05650 Des 2 SHE0B.

(@) 365150 Densd SRBLD.
[PT.0 31
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0. Match the following:
A. If probability of an event E is 0.8,
hen the probability of getting an even number is i.

then the probability of the event E is i

B. If adiceis thrown once, t

C. If two coins are tossed simultaneously, then the probability of getting at least i,

ahead is _
D. If a card is drawn at random from a pack of cards,

getting a diamond card is

then the probability of iv,

Blw vl ] = o =

808 3R 388,06
A. {00 E G, Sogmigs 0.8 ©ond, 50ei E Gk, Hogrd @ ]
~

B. 2.8 a8 2,830 GO0, N0 Hogy Hid) dogpai® % i

C. Dot aedier &.0e0 ROSY, ¥ &8 iy, O Kogpsgs \\ i
D. S50t Sotho K6F K0 OO 28 5305 8% B0l 508 5 Sogmisg \ i

» oo
: ' d
Choose the option in which the given pairs are correctly matched. “
806 Q0NEL? HTN 2:e8en EDNN 0DERD HoD¥ SaHod.
MA-v,B-i,C-ii,D-iv - _ ) A -iv, B-i,C-ii, D-iii - 17 el
(3) A-iii,B-i,C-ii,D -v yl)A-iv,B-i,C-u,D-ii rj’

e C— B W L] G e R

M. When two dice are thrown, the probability of getting a number always greater than 4 on the
second dice is

Goth apdYen éﬂnaﬁr‘(muﬁa DY Boks PP 4 Kol AHH Hoadh Feod
rooaraa’fe‘ﬁ

(g W
1 1 el O B —
(1) 5 (/Qg (3)— N6 (4) = AC Vv

112. If a number ‘X’ is selected from the numbers 1, 2, 3 and a number ‘y' is selected from the

numbers 1, 4, 9 then the probability that the product ‘xy’ of the two numbers will be less
than9is

12,3 f_aoméea $06 ¥ n)oaaéa’n Qoo Hdaf 1, 4, 9 Hogp® Hod ‘v’ KJoaJé?\'D
caoafugaooj © 80D ¥ n)DaJéQD Xy' © ©2)09 éoéﬂ 0,35 e'aoé .\Joanaeﬁée‘ﬁ

M2 21 (32 (a) 2
9 9 3 9

;" e e T —— N . |
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b < 3aand them
13 'f il #an and the median of 22 —b, 3aare equal to 45 then ab =

e

2<b<30 ©ONS; =1p, 30 oy , 0t Bk :ﬁxﬁéﬁeﬁo 458 %5750 @A ab =
(1) 600 @750 (3) 900 (4) 1200
" Match the followin'g:
A. Ifthemean of 3,4,x,7,10 s g then the value of x is . 5
B. Themedian of10,14,11,9, 8, 12,6 is i. 6.83
C. The mean of all the factors of 29 js ii. 6
D. The mode of the data6,1,5,6,2, 3, 6, 5, 5270,55,6is iv. 7
v 10
800 R BBHY,08: ° A% -\
A. 3,4,%710 oﬁngémﬁanswonéxcﬁnééaené 3¢ i. 5
B. 10,14,1,9,8,12, 6 ® e feso i 6.83
C. 20 OIE, ©A), Selego0s0e Hifew ii. 6
D. (3&R0&06,1,5,6,2,3,6,5,5,2,7,0, 5,5, 6 I, ereiad Eaud iv. 7
- - gk v g 10
Choose the option in which the given pairs are correctly matched. FQ} y -
808 aofbémeﬁ? R esden INN Q0D Q0cHE%0E. | g ¢ e e
/(1)A~iii,B—\1fc§ ii,D-i — ;sz)A-v,_B- i, C - iv, D - iii - v‘;@
f/(am-aii,a-'y,c-w,n-i/" (@A-iv,Beiil,C-ii,D - i )

115, If two dice are thrown simultaneously and the product of the two numbers appearing on
the top of the dice is noted, then the probability of getting the product 6 or 15 or 24 is

30 AL DEse0H JB[D, VAL DS KID0D Fotdh Hoaye ByoH
7S ;3,\1353;5‘13301353 @@JcﬁJ 0 6 Bwe 15 B 24 & F008 Koz |y

) Ee - 2)2 = 3) E (4)

6. A box contains 8 -red, 7 blue, 6 green and 8 white marbles. If a marble is selected at random
from the box, then the probability of drawing a ball which is either red or green is

28 DEGS? 8 Athiy, 7 A0, 6 @HHy, 6o 8 Sens) Aden &I, DG Hod

OifRCSJaJéona 0. 5592 08 B3R, @ N2 DK B ©HHcS, Both God RH08Res
13 3) 4)16
2 @% @35 “
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7. Which of the following statements are true?

A. A set which does not contain any element is called an empty set. -

B. Empty set is a subset of ei:erv set.

C. Two sets are said to be equal if they have same cardinal number.
D. The intersection of two disjoint §éts is a null set.

Choose the correct answer.
(1) A, C and D only (2) B, Cand D only

(3) A, Band C only (4) A, B and D only
S08 @8 HFNA e ?

/‘A 2.% B 58 Derod Sueeseen P08 @08 VB e HaDS @Oera.

/

118.

1S.

a

B. 508, 1A HA HBS &L,
C. 505 Kgheten KirpSoseare o, ©d 2.8 52080 raoanésﬁ) 5OR &08mROD.

D. 305 DA HEEHY BE50 RS 0P, pov -
0% KEiRERed), H0DE FaHod.
(1) A, C 5001 D SR ' /ﬁg) B, C 5001 D s

(3) A, B 5800 € Speidh ———— (4) A, B 50afn D sreesad

If A= {x: x ié afactorof 5}, B={x:xis ayfz:ir of 25} and C = {x: x is a factor of 125}. Which one
of the following is true’J G—

A= {x: x @056, 5 Ao emoxa), | ! 9

B = {x: x @x56 25 @néasadeaaoéo} a0Bafn( !, 5/ ) /I)

C = fx: x @RI 125 dinéasadmoéo] (: =747 s JL

800 a838H3H0 A6?
(MBcA | /[2)Bctj/ &
(3)CcB 4)CcA Y VS

(4 Cc G ‘ ’
If X = {x:x is a multiple of 3 and x < 120}, L v
Y ={x:xis amultiple of 8 and x < 200} then n(X) + n(Y) = v

— = w o

X = {x: x OX0R6), 3 G, thedeso SHBA x < 120}, -
Y= {x:x ©fK0 8 A, thedeso KOO x < 200} @@ n(X) + n(Y)=
(1) 67 (2) 65 \‘l-/y/"
@6 0 73
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5 - 5
ss of 60 ‘

120. In@ € Students it Was foung

newspaper B and 5 reaq nelth that 30 students read newspaper A, 35 students read
Aand Bis €N then the number of students read both the newspapers

60 0B Smégjm@ﬁ SR

35 aNOK JWRKEN B gpm,
S5 O0NBA SH8a% |

> B85 30 5106 JEagHen A PPHBED SHHED,
V85X Sehaets H0a 5 H06 RN o) 5eGeDBEN

.
G

/(,1) 10 o
(2)5 oy
’ \\
(3) 20
= x, then the ratio of areas of

(4) 25 AL %.)/

121. InaAABC, DE || AB.AD = gx + 9,CD=x+3,BE=3x+4andCE
AABC and ADEC is

AABCE® DE || AB. AD = 8x +9, (D = x +3,BE = 3x + 4 5)B0f.CE = x @05 AABC 5001 ADEC
e éaamét‘ﬁne] mg& l%x]d@ ST

(1136
Q12

1361

(4) 1211

- S
-
e
b P
| 2
122. Inthe given figure, APQR is an equilateral triangle and the length of its side is 15 cm. ATQR is -

aright angled triangle at T with TQ = 9cm, then the ratio of the area of ATQR to the area of -
the APQR is :

APQR 2.8 Haeresia @aha:o SH8afn me gheso s 1500.a0. ATAR ©02) §9a dghazo,
©02) 85535 FONF 3w T »BaHo TQ = 9R0.8h, ®ANH ATAR OAM APOR FFee)Eine

m\f
e gwwg . a7 19 e
{ A L
\ @7\ =3 . /4}\//
= - . V2R
y&:y@gﬁ iy )/4 /3
S 15cm o ' J nC ST "M"
(1) 24v3: 25 (2)12v3: 25 /(3} 24:25V3 (4)12:25v3
[PTO 35
k - W g o
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123. Which of the following statements are true?

E3E
2]

A. Area of a Square is% (Diagonal)? sg. units

B. Area of a Circle with radius '’ units is r? Sg. units

C. Area of an Equilateral triangle with side ‘@’ units is ? a?sg. units

D. The length of the diagonal of a rectangle with length “’ units and breadth ‘b’ uni*Fg is
VIZ ¥ b2 Units

Choose the correct answer.

(1) A, Band D only (2) A, C and D only
(3) A, Band C only (4) B, Cand D only
800 aR@®E? HFH D) ?

A. SBBH0 B, SFee0 5 (K0 5. OHIeREN

B. 33,700 'r' e $OO &0 A0E; B0 nr? oS ARAED

C. 30220 ‘2’ AHrAE) KNS Heriiv 8a0ei0 G dme0 ¥ at . 0hrdg
- /J oSy 7’ afedtn SHoofn S, b ahEAL NS &;qr:iv‘_’qm@o o?mé?, 5o et

VIZ ¥ bz 07eR)8D ‘
8% H8rEeaed) H0DE B0HOL. J
() A B 500 D m@a) 2) A, C 598t D SrEdr”
#3) A, B 000 C @b - (4)B, C »Baf D ey’

124. Which of the following statements are true?

A. If a line divides two sides of a triangle in the same ratio then the line is parallel to the third
side.

B. The sum of any two s‘ides‘of a friangle is 5maller than the third side.

C. If two angles of a triangle are equal then the sides opposite to them are also equal.
D. If the areas of two similar triangles are equal then the triangles are not congruent.
Choose the correct answer.,

(1) A:and D only (2) Aand C only

(3yBandConly  ° (4) Band D only

—
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125.

)

800 FPAPD K359 59

33720888508 50655, “eRoi 2.8 Q5,858 Defesoch HEY 39, sgetisd 8reeRd

Q2230699 &)
B. 8hea) A% e Fhese) Bueo M ghesin 08 DR)AM &0En0R.

5 0 R &9, ghamen Kt
BTN S0eTay - Som ¢ot, apeld achthm & ab

D. 60@ RS Sehene Qme’é&"man NSRPSom &0, @ghesen DR S25).
3% DARERTR), Q0D Sahod,

(1) A 080fn Diregdah

(2) ABOfL C ety

(3) B B C reghad &

(4) B s0B8af D sieedaly

Which of the following statements are true?

A.If the diagonals of a parallelogram are equal then it is a square.

B. A quadrilateral is a parallelogram if a pair of opposite sides are equal and parallel. -
C. A diagonal of a parallelogram divides it into two congruent triangles.

D. All the similar figures are also congruent.

Choose the correct answer.

(1) Band D only '(2) A and D only
(3) Aand C only (4) B and C only
800 a@Ee? HH D ?

A. H5720858 Setf)2s0 AWE, SgoeD RaeBom 608, 08 &8 SHBHH ©HH0E.
B. 08)&ng gheee 23¢9 H&Tenorme $80fn Karogtomn 6ol © S0 K0S

S8t 200)E0E.
C. K5700658 c5eftpi0 OV, %o e Foth MR Baherent Dafe 008,

D. ), o35 Htsoen Koo HUFBRHED.

505 i) H0HE SO .
() B 5801 D &g (2) A &80 D Segsad/
(3) A 5080 C m@;&,‘ /4) B abBafn € suegdad
[P.T.0 37
——— =
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3:5:9:13,then the sum of smallest and largest

i io
126. Theanglesofa quadrilateral areintherat

angles is.

Sefyes0 A, S¥emen 315 013 D, RSP Gv0n, @ 50 A, OB, Shbay,
]

©&2( Soegoe ANGO |

(1) 168° (2) 144° (3)192° (4) 156

127. In two triangles ABC and XYz, ZA = £Y and £B = £Z, then which of the following is NOT

true?

ABC $)B0%0 XYZ ©x 306 Repened® ZA= LY p0o £B=21 @0 §08 Teedet ap

Q830 5otd? \.{
R - ‘2"‘—2/ / } f;
/ BC AC _BC i) %; @7'(

(3)_ =5 XY Yz
128." In the given figure, PQ* - PR?=
Q) H0S’ PQ? - PR? =

P

(1)a?- b @R@=bZ . . ()a+b? (4) 2a? -
129, In the given figure, AABC and ACDE are equnlateral triangles and C is a point on AE such that
3 AC = 2 CE, then the ratio of ar (AABC) to ar (ACDE) is

2y DB0BS AABC B0 ACDE Ksbermaia Sgheren $HBA 3 AC = 2 CE ©ab o
C @B AE R 2.8 Dothia) ©one ar(AABC) Sobafw ar(dCDE)P_Jr‘\')uhﬁg )

A A Ce
a! 2~

_c_' ~

‘Ac;(, 7

-

M3:2 (2)2:37 3)4:9 (4)9:4

38
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yhich of the following statements are true?

' ent at
A The tang any point of circle is perpendicular to the radius through the point of

contact.
B. infinite number of tangents can be drawn to a circle from a point Iying outside the circle.
¢ The tangents drawn to a circle at the end points of a diameter are parallel.

pThe lengths of tangents drawn from an external point to a circle are equal-
choose the correct answer.

(1A B and C only
(2) A, Cand D only
(3) B, Cand D only
(4) A, Band D only
goa T8 HFH A 2

7a 8,850 D o 2B Dothi thowe Aopadss §tdD, © §6) Dot Bloy a;a@ammé
PO &0LV0H.

B. 5,850 Bene &%, Hothih) Hod 0FosHS HEGne’ 5,008 ﬁdﬁédsf -
2.8 35,8 0550 D56 Do 565 AahHd Ky,5en HSROEBSH R EOR.
D. 55,008 23550, Dot H0od HaHEH Y0P Fpisyen Ra37e s .

335 HeimEReR, A0DE BAHOG
() A, B 5080£0 C Srpgay A, C 50805 D Smesa
(3) B, C B0 D &eghsh /@)' A, B 00010 D Segsah

Inthe given figure, PAQ is a tangent to the circle with centre ‘0 If ZOAB =42°% thenx +y =

aad;:\f) éé«)O@ﬁ, o' éOQOPBﬁ ;,’D;{)Ju")dgaf{l@. PAQ (‘913& 'ﬁ,(ﬁﬁa]. Z0AB = 42"@01)@ X+ y=

(2) 42°
(4)84°

[PTO 39
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132. A copper wire when bent in the form of a circle coV

m.
@'g :
3 =
2and if it
< an area of 1380 e ane i the Samg E'ﬁ

it will be in cm?) 134.
covered by it will (i
wire is bent in the form of a square, then the ar ;

2.5 TR B 5,050 $0OS G DEE 88 ST 01386 €M a’nﬁoin Sln @ﬁﬁ‘
SRS R0 H0AS, RSP HY,8 ST BV (cm?)

(1)1086 . (21089

(3) 1386_ (4) 1286

133. Match the following:

40

i : . 35.
3 en the L ?cm 1
A. The radii of two circles are 12 cm and 5 ¢m respectively, th

as of the
radius of the circle having area equal to the sum of the are

two above circles is . X ™
B. If a race track is in the form of a ring whose inner circumfe

352 cm and the outer circumference is 396 cm, then the width of the

_trackis -
C." The radii of two circles are 8 cm and 6 cm respectively, then the iii. 175cm

radius of the circle having circumference equal to the sum of the

circumference of the two above circles is .
D. If the circumference of a semicircle is 90 cm then the ra.dlus of the iwv. 14 cm

circleis

ii. 35¢cm

136

V. 13 cm
8080 38R wesHT06:

A. BOtH e argegoe HHKM 12 V0.8, HBOM 5 0.4, ®owd i 70D,
@ G0t H@ee JFeeRe dn@eds JHERHHNH JFeen), ¥ &0k
a)&0 Aln; aRJedo

B. 8R &S 2% ﬁoﬁ 5069 08, e 00558 HOG 352 V0.8, ii. 35O
o8 afn 23R HOE 396 0.ah. WA © RS Stsen, _

C. G0 dmee argTegoeen HtHRM 8 10.4D. 5HOAM 6 10.8b. wand @ i, 17.5 0D
Bocs) @0 5,8 HO6 A0S KBPIS K8 HOOD KA &od
5,0 G0, Yo |

D. ©f &0 aws, 855860 90 20.8 ©and @ 5,850 Ging, TGO iv. 140D

137

13

Choose the option in which the given pairs are correctly matched.
800 Q0HEVE? HF 2éen KRN 20D 202 SohHod.
[1]A'U,B‘iii,C'ii,D"i (2)A |v' -iJC'iilD-iii

(3)A-V.B-i,c-iii,D-ii (d)A_UIB‘iIC_iv,D—iii
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134

135.

136.

137.

138.

@ d

If the diameter of a circle and the Side of an equilateral triangle are equal, then the ratio of

the ared of a circle to the area of an equilateral triangle is
o g)Jéo g, @90 SHBAM KisHenimy 820230 @, gHro Ko &083, @ K80
g, D00 D000 Deni Beheso ding, mesne 5,8 )
(NV3:m : @) n:yv3 ‘
(3)V2:m (@) m:vZ
If the side of @ square is increased by 30%, then its area increases by \ 69
r‘,ﬁ?‘ﬁJdn)‘O/md 0230 30% 2N, wed FFew,0 V0 WHHEOH Ao - -
(1) 69% (2) 90% N7 }x v
(3) 60% (4) 39% / /
If each edge of a cube is increased by 50%, then the percentage increase in its total surface
areais
£50 G, B ©OH 50% 20058008, 7oA KoRgie daedd atitbie BE0
(1) 50% (2) 25% S’D P

A
(3) 75% | )125% /( / (C/J

The number of cubes with 3m edgé that can be cut froma cuboid measuring

18m x 12m X Qm is

18 & x 128 x 9 Sedentio BY’ g0 06 @Wﬁe F W)
R08) | 03/ ’B
(1) 54 _ (2) 216

(3) 72 ‘ (4) 648 )/—7&)' 7;2/

If the areas of the three adjacent faces of a cuboidal box are 120cm?, 50cm?, 240cm?

respectively, then the volume of the box is (in cm?)
By %o wsedo o DY Glng, Huech @) Hware Jmeered SHIMm 120 S0.4,
50 55250 80, 240 £ 2008, ©ONSE Gt HIHOLPERO (FR0.DVG)

(1) 1200 (2)1800

(3) 720 (4) 600

[(PT.O a
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(T’ | surface a
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139. If the radius and slant height of a coné are in the ratio of 3: 4 and Its s
792m?, then its radius is (in meters) . a— Bt o
v
a)ear 34 0,8 2
#0aus) Ay, aeetfo O ;
S05REse Se,0 792m OONSIPR) )
(110 (2) 8V3 (3) 12

140. Match the following:
; p inthe i. 17:
A. The radii of two cylinders are in the ratio 3 : 5 and their heights gre int 9

ratio 2 ; 3, then the ratio of their curved surface areas is

ey el
aoen Qe (&b d?)
(4)9

B. If the heights of two cones are in the ratio 1: 2 and the perimeters of their ii. 6:n

bases are in the ratio 3 : 4, then the ratio of their volumes is

C. A cone and a cylinder have equal base and equal height. If the radius of the iii. 9:32.
base and height are in the ratio 5 : 12, then the ratio of the total surface
area of the cylinder to that of the cone
iv. 2:5

A sphere is inscribed in a cube, then the ratio of the volume of a cube to

\IT¢ v 9w
808 a8l e 06: '
A. G0t freater) ajegegeen 3 : 5 el @ 00 00 aeel o)e:éJP.lJ 2:8 4 M9
K]nh&??jﬁ €578, 000 e SFBO SFeeRe V)
B. 00 0gus)He ehen 12 A5, Be &mean B aeel esine
HEpSPosen 3: 4 A, Gaea, aoe i8R VB
C. &8 Hoquih) H60f R0 F:seRDS GRDA SO KRS e i, 9:32
500 shae,aw. g17sh aeeo B0 A& 5 : 12 AE BB ez 00, @A
-‘;raJaa’Jo a0Baf d0ans) Gns, N0xeYe JFeeR® B
D. gharesed aegdeld 2,8 MY ain ©oeB HYSAEHA. wow oo Jiv. 2:5
o8B0 Ho¢ 0 alg) guR0seeTe A,®

that of a sphere is

ii. 6:m

V.. 9:17
Choose the correct answer., i f:/;C ]
3 SaipmmRs, 2098 SaH0d
MA-v,B-iy,C-i,D - jii (2) A - iv, B -ii, C - i, D - i
(3YA-iv,B-i,C-v,D - i (4) A -iii, B-ii,C-iv,D - v
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. Ifthree solid metallic spheres of radii 6cm, 8 cm, 10 cm are melted to form a single sphere,
@ then the d.ameter of the sphere is (in centimeters)

6 20.8., 8 VO- &, 10 20.5D aedetEnen ¥ Supth ) Slss) MY o $BA0S)
& phefssnm SO © %0 Gy, 330 (20832005 6?)

()12 (2) 32 (3)36 8) 24

142. Curved surface area of a conical cup is 308 cm? and base radius is 7 cm, then the angle at the
vertex of the cone is

Hogrset 88, B, SEB© SFe0 308 5 20.4D. B0 g arg@edo 7 R0. .00
@ Hoans) Ao, BYo H¢§ ka0

1) 90° (2)30° (3) 60° (4) 45°

143. The points on the Y-axis which are at a distance of 10 units from the point (8, 8) are
_Y-050d Gotr oths) (8, 8) $06 10 AHIeAY B0 &y Hotzhen

1 (0,-2) and (0, -14) - (2)(0,2) and (0,14)
(3) (0, 2) and (0, -14) (4) (0, -2) and (0, 14)

144. If (2, 1), (4, 5), (-1, -3) are the midpoints of the sides of a triangle, then the coordinates of its ‘

vertices are

2,1, (4, 5), (-1, -3) @ghes0 A, ghesee el othayen ©ansd @ §gHes0 BN, BT
AdRIsee) | ' '

(M (-3,7),(-7,9), (1, -1)  26-n,7-9 1,7

3)(-3,-7),(7,9, (1,1 - @37),79 -1

145. ThepointsA (4,3),B(x,4),C(5,-6) andD(3,y) taken inorder are the vertices of a parallelogram,
then the distance between AB and CD is (in umts)

Socshen A4, 3), Blx, 4), C (5, -6) 0001 D (3, y) &0 DR &l roa’naoétﬁ éé&adnaes
r%oaen ©ans AB SHB0f €D © G tRE0 {cﬁm:]eaeﬁﬁ)

(1) E (2) 19v5 (3) (4) 38V5

146. A circle is drawn with (3, 2) as centre and passes through (-5, 6), then the point which lies
exterior of the circle is
Dot (-5, 6) thowe D85 3,80 dméaéom (3,2 owa B‘J,]e‘éo 2058 &5, Hothd)
(1) (-2, -5) (2) (5, 6) i
(3) (-5, -6) (@ (-4,-3)

(PT.0 q3
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147. The points A(Z,Q), B(2,5) and C(5 5) are the vert.ices of which triangle?
(1) an equilateral triangle (2) an isosceles triangle
(3) a right angled isosceles triangle (4) a right angled triangle
afo C(5, 5) O BeHeso s, Bgeen?

HoehHsyen A, 9), B2, 5) 00
(2) &8 DHOERID Bgheso

(1) &, Henersn 8ghe0
(3) 2.5 ©02)5080 HEEITD 8eheo  (4) &8 ©o8ies Geheso

.+log, tan 88° + log,tan 89° =

(3) sec 60° (4) cot 90°

148. log, tan 1° + log, tan 2° + ...
(1) tan 90° (2) sec 0°

149. Match the following:
A. If a vertex of a triangle is (1, 1) and the midpoints of two sides through this 1 (2,-1)
vertex are (-1, 2) and (3, 2) then the centroid of the triangle is
(73)

The centroid of a triangle is (2, 3) and two of its vertices are (5, 6) and ii.

(-1, 4) then the third vertex of the triangle is .
The three vertices of a parallelogram ABCD taken in order are A(4, 3), ii. (6,3)

C.
B(-1, 2) and C(-2, =3), then the coordinates of the fourth vertex D is -
D. If P divides the line segment joining the points A(4, -3) and B(8, 5) in the iv (1%)
ratio 3:1then the coordinates of P is
v. (3-2)
800 70833 assDHG)00:

A. @gbaio g, Ao (1, 1) OO & 3P0 wewe Joth ghepe ey i (2 —1)
DochBe (-1,2) HOAM (3,2) ©ONS @ e‘_’éaﬁaso G, ththeSossn

Seh20 Ging ththeSoaw (2,3) Bk wed oS 3Teen (5,6)

5801 (-1, 4) @O @ Gahaso AW, Metss Yo

C. w0y Sef)eo ABCD G0E, weth Bgeen WM A43), B(-12) i (6,3)
508050 C(-2,-3)©0W e BY0 D G, ARSI -

2othsyen A(4,-3) 500 B(8,5) &3 QD Gaea)0¢ 80D 3:1 A QS8

P Defeed), P GIn, Atirsseen
v. (3,-2)

i. (7,3)

i o9
v, -
(3)

Choose the correct answer.
R0 N 202¥ 30Hod.

MWA-v,B-iv,C-i,D - jil (2) A- iy, B -V, C-ii, D -iil

SN~ BRI~ (&) A - i, B-ii,C-i,D - v
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150. The area of triangle formed by the fines x + y-3=20,x~3y+9=0and3x~-2y* 1=0Iis

(in sQ.uNnits)
x+y=3=0, x~3y+9:=050a03x - 2y + 1= 0 Jae ARG AGEH BFHA0 O
(25,0072 E9)
16 10
) =
m ” (2) ~ (3)4 (4)9
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